Math  Studies Dactice Answers
3]

) 7(x) : c;)x s #3x+ |
Q) f ‘()= bx*-lox 3
b) £12)> b (=) 10(>) 3
*h(4)-20+3
T Ho+3
- 7,
o) Equatiom g the tangent © e qune i 4= <)
® (2)5> X" o), ‘1 3
m=f():F -
v:m)ﬁ- b o Eqmm‘mn ‘Q the tangent
3= (PE)+h- y= Fx—1t/ ,
U
3=1U4 +b
b=t/
31) £x): 3% Dx>+3
a) £/(x)= 2x*~4x
5) Dmﬂc
Q) Find 1quatin ¢ *f&ﬂqﬂm‘ to the curve @ (1,1.5)
X, vl or 3
m-= P(/) 2() -4
- P55 > Equation g fangent-
2 ‘% (4’ ‘QX'LL'LI:
_y=my+b:
a6 9JOAL
2-5/-{‘3—5::. b
2=b
b=y




38) % I<x<d ] U | 4exet e
: £(x) negative] 0 | ereasmg m#‘\ ’Zhn
(aea'wus-'n\z)) ( X v opiel
@ pémf P =0 |<x<cy x=4 4<x G
Q) yziith  y=2 x4 >~ T pguation tAngent
)= (@01 M=0 10 fix) at P13
b2 |/|J—2)

ghm,omt Ime )

)

b) Smee, at )<7‘¢4 s negative , meanng the  valwe i

dicr asing, dor ) pt F(‘D the amph will change.

nhrect“oﬂ meaning it witl be A )nml mmimun_

Wrﬁ{ﬁ‘e f(4) “chowid be less than £2)

c) Pdnt P ix the local mimum

L)
a 1170 sh a0 (epr2nt) b kit y mtoms 4x
SR>2(Iw) ¢ EJ/ 4 F l? +b(xn4 t ZM bm %m> -l
2(whyt gA=5ooom" 3k >4y ﬂom . bx bx b¥
2(4M) . Uy > 300 Uz g 2%
i ,J X 3
V2dwh Q) Yolume> CN0A(Y) - d) gV . 100 - Yx*
V= (260 [t dx
b Bl 1) max> when %”5
Pyl L) 20 0= 10-Yx> W) Max _yolum
BT —[6D = -Yx* ' ’lov(f) %(5)
= 100 4y 252 x % -t - &
oo b T = 140
V2 100% - Y 33 uz X - 205) > 553-33mf,
A Feid S
w.,ul }0

g Yy



\/

=
o, )
R P

SHANGHA

)] o=t

a) fmd C'0) i 7
00>yt (Do = = | DT
C0)= |- jo0x* 1 .\ /Qﬁé’:c
AT AER E oo N/
T
Rif £00) is a mmimum: | min
¥ &lp)=0" =D
¥ U< 0 when x<¢ o :
& C'(D>0 pwhen XD
Xob-x4p | oy=lp bR . P eilien
¢l =B few B T e0d= |- ) yeip i poghice
el | 310 4 %f and_¢/(X) Iw)fwn X710
behowi { diestasing | Statiomy | MCRASng - Ls wogatine | ants-
e e 0D 15 the i
(Mnimum)

A Thu Cgsk pev persn B a_ mininun?_when (0 people ave

mvirttd s part iy

e) Cplewlate wm post > fud  C(n)

JUERTERTY)
i N The mnum cost <

> J)+1b $20,, .

= 40




